TH2EE TEFPE

R2.10.12I87

MERIIEE - HHE

10 H 11 A 12 A 1 A 2 A 3 A

iEN 18 1|k HESBH=] 1 1
2|& 2 2[7K] 2|t 2|k BETVIL 2| K| ERE
3| k| EE= 3[K|xem A 3| K 3|8 3|k|ExEHER 3| K[vnguitEs
48 4|7k Uk 4 4K NES
5|8 5K 5|+ 5[] sﬁﬂgogf 5(&
6| K ?%ﬁﬁéé%s:so~ 6| &|ARAE 6(H 6|7k (== 6|t
7|7K 71E 1A 7| R 718 718
8| K s(H 8| K| RETIIN 8|& ﬁﬁfﬁﬁ 8 ALTERIES 8| A
9| & 9(A 9| 7K| 9[x 9[k 9| K
10| £{/hEiiEE R 10| K| BEER 10[ R 10(H 10| 7K 10]7K
1|8 11]7K] 1% 11| B(BADAE 1| K|zEZE0H 1| K]
12 FEB (SRR 12| K| 12| £ 12| K] 12| & 12| &
13| K 13| & 138 13| 7K| 13|+ 13| &
14]7 ijﬁﬁu%m}%&)(* 14|+ 14| g|7VATARER 14| K|mEs 14(A 14|A
15| & e 7 s =| 15| | ALTEREED 15| & |mEaRE 15| B 15| B

13:450% E
16| &| R 900~ 1o gt EER 16| 7k ES 16|k 16| | oo 000 )
17|+ 17| K 17| K 17|12 175K 17|5K]
18(H 18[7K 18| 18| B 18K 18| K
19 ALTERIES 19| A& 19|+ 10| e |ALTEREIES 19|% 19| 2| = inarsgst
20[ sk ;gggﬁéﬁgﬁ) 20| % 20[ B 20| 7k 20|+ 20| t|FEH0E
21|k HE 21| £ 21| B 21| K 21|H 21|H
N *s@z%nmm.:mem) g 2l 5 2% 2| g[ALTEREES 22
23| | S EIERS 23| AlmsEsios 23| k| = et 23|+ 23| k| x e E 23| s [ALTEREIES
24|+ 24| | BETVTIL 24| K& ZH %R 24|82 247K 24| KMET =
258 25| 7K 254 25| B 25 K| 25| K|#ERKER
26| A 26|k 26|+ 26| | PET VT 2|2 26| % {mfExt8 90
27|k %"_Tﬁg’ﬁ%gi 27|18 27|18 27| k|RESBRED) 27|+ 27|+
28| 7K 28| £ 28| B 28| K| RESBBEH) 28| H 28| H
29| K 29| H 29| K/ 29| &|RESBREER) 29| A
30| <& 30| B 30{ 7K 30| % 30|
31| L] 31| K[ KHgR 31| 31[7K




